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Mathematics
Arithmetic: Test 2b

Year 5
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Key Stage 2: Year 5: arithmetic test 2b

1 | 49+60-=
| N N
‘ { q i |
71
2 |57 7"
3 | 3997 + 1716 =

Total for ;
i this page
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62x 1=

316 x7 =
2 —
'—5—0 40 =
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7 | 28 115-4629 =

I
8 | 30000 + 600 =

©twinkl.co.uk. You may photocopy this page. a



10 | 25+ 1000 =

o |un
x
N
1l
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13 | 2387 x 48 =

14 | 294 +7 =

wsre—
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Answer Sheet: Key Stage 2: Year 5: arithmetic test 2b w

Guidance: Children will have 15 minutes for this test.

question answer l marks
1 109 1
2 765 or —g— 1
3 5713 1
4 62 1
5 2212 1
6 16 1
7 23 486 1
8 30 600 1
9 6 1
10 0.025 1
1 S or 1
12 14 1
13 114 576 2
14 42 2
- ~| Total 16 l
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Mathematics
Arithmetic: Test 3a

Year 5

( Name

t Date
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Key Stage 2: Year 5: arithmetic test 3a

1 | 172-100 =
2 l 87 x 3 =
3 1T
3 |16t76"
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4 | 5602-583 =

j

492 + 0.08 =

©twinkl.co.uk. You may photocopy this page.




7 | 82-+100=

8 | 573224 -56277 =

©twinkl.co.uk. You may photocopy this page. 0



10 | 70x8=

12 | 5.8 +4.62 =

©twinkl.co.uk. You may photocopy this page.




13 | 692 x 17 =

14 | 3774 + 6 =
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Answer Sheet: Key Stage 2: Year 5: arithmetic test 3a @’

Guidance: Children will have 15 minutes for this test.

question answer l_ marks
1 72 1
2 261 1
3 —1‘-*6 or -—g— 1
4 5019 1
5 42 1
6 5 1
7 0.82 1
8 516 947 1
9 64 1
10 560 1
n —% or % 1
12 10.42 1
13 11764 2
14 629 2
| Total 16 ‘
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Mathematics
Arithmetic: Test 3b

Year 5
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Keg Stage 2: Year 5: arithmetic test 3b

1 | 482-400 =

3 | 624142676 =

©twinkl.co.uk. You may photocopy this page. ¢



4 72 + 1=

279 x 6 =

1l

of 42

©twinkl.co.uk. You may photocopy this page.




7 59 302 + 3469 =

|
| 8 | 80000-500 -
|
|
|
q | 720+9-=
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10 { 037 x 10 =

©twinkl.co.uk. You may photocopy this page.



13 | 7649 x 34 =
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Answer Sheet: Key Stage 2: Year 5: arithmetic test 3b W

Guidance: Children will have 15 minutes for this test.

question answer __marks_
1 82 1
2 % or —;— 1
3 8917 1
4 72 1
5 1674 1
6 35 1
7 627N 1
8 79 500 1
9 80 1
10 3.7 i
l 2 1
12 22 1
13 260 066 2
14 96.5 2
I Total 16
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Blue-Bot has been cheeky and stolen lots of numbers and operations.
Become a maths detective and see if you can solve these problems and fill
in the missing gaps.

~WHAT'S MISSING?

)58 71,84 . 136

) J—

b) 140, 131,122, 86

) — ey

Explain what is happening and find the missing
numbers

=~
Product Code: MA10142 - 03 - 18 Made In UK dﬁ -5

Can you work out the headings for the Venn diagram? .. -
Could you add other numbers to the sets? .

Product Code: MA10141 - 03 - 18 Made In UK

34 What's Missing? Maths Activity 4 [t ¢S
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WHAT'S MISSING?

50__12__18 =44

100_50__3 =150

50__10_7=12
24__3_8 =064
12_3_6=6
7_3_28=49

Find the correct operation signs to balance the
equations, and add brackets when necessary

Product Code: MA10141 - 03 - 18 Made in UK

Explain what is happening and find the missing
numbers

Product Code; MA10142 - 03 - 18 Made In UK

obo What's Missing? Maths Activity 4 35



Name: } Date: [

: .10
“total marks

Year 5 English Grammar and Punctuation Test 3

- i
1. Add brackets, dashes or commas to the sentence below. '
i

|

e

. 1mark
&

The chef who was very famous visited our school to show us how to cook his
favourite dish.

2. Use each prefix once to make the verbs in the sentences below negative. Write your answers in
the spaces.

I think I must have D heard you. I have to D agree with your views on

this. We need to [j construct the rocket immediately.

de mis dis J

B

3. Circle the punctuation marks below which can be used to add parenthesis to a sentence.

(%

()

-e
-
.

4, Complete the sentence below so that it uses a modal verb.

She [ } know about this.

!

{ We don’t want her to know about this. }

¢ total for
this page
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Year 5 English Grammar and Punctuation Test 3

5. Look at the words in the table. Are they relative pronouns or possessive pronouns?

Tick one option.

1 mark
Word Relative Pronoun Possessive Pronoun
which
his
who
where
ours
6. The sentence below contains a suffix error. Underline the error and write the correction in the |
box below. é Ik
In a panic, Lucy tried to activify the fire alarm.
7. Look at the article below. Underline the relative clauses. {
| o
Summer is finally here
Weather forecasters have confirmed that the hot weather, which arrived last
week, is here to stay. According to Sunni Shine, who is chief weather reporter
for the Weather Channel, temperatures look set to stay high until the end of
the month.
total for :
this page

visit twinkl.com W
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Year § English Grammar and Punctuation Test 3

8. Which pair of time adverbials and time connectives link the sentences in the box together?

Tick one.
. 1mark
We will go to Scotland for Christmas again : , We are

thinking of trying somewhere new.

last week [/ Then
on Saturday / Firstly

this year / After that

oo

9. Add commas to the sentences below to make the meaning clear. j |
- mark

Every day even on a school day I have a big breakfast of coffee eggs bacon toast

and cereals.

10. Underline a verb prefix and verb suffix to complete the sentence below.

I was very __appointed when the seeds I'd sown failed to germin__.

Verb prefix Verb suffix
mis ate
dis ise
d .
) iy
[ 2 & [£ & & € [ &
**END OF TEST** L |
| total for
. this page
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Name: J Date:

, /“105
- total marks

Year 5 English Grammar and Punctuation Test 4

1. Which conjunction creates cohesion by following on logically from sentence one? Tick one.

1mark

f E
§
2

I never enjoyed learning languages. , [ passed my French
exam with ease.

Subsequently
Despite this
Even if

2. Read the sentences below. Which adverbial of place should be used to link the ideas in sentence
1 to those in sentence 2?7 Write your answer in the space.

1. Walk past the bank and continue for half a mile.

2. { turn left, then right.

[ Outside At the end of the road Everywhere

€ L B L { 4 + v [ . t B ¥ £ oo i ki “ 3 B . & E ¢ E

3. Tick the sentence which uses a modal verb.

I am thinking about joining a karate club. D

I should think about joining a karate club.

o™

-
~

-~
-

total for ;
this page
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Year 5 English Grammar and Punctuation Test 4

4. Tick the box which shows where the relative pronoun has been omitted in the sentence below.

Th’tslis the gentlemanll was telling gouFabout.

5. Which verb prefix matches each word? Tick one box for each example.

1.mark

Verb dis de mis over re

understand

believe

hydrate

react

visit

6. Tick the sentence which uses commas correctly to avoid ambiguity.

For lunch I like to have lemonade sandwiches, fruit and crisps. D

For lunch I like to have lemonade, sandwiches, fruit and crisps. D

7. Underline the relative clause in the sentence below.

My cousin, who has completed the London Marathon many times, is a very
talented runner.

. total for :
j this page

W visit twinkl.com w*
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Year 5 English Grammar and Punctuation Test 4

8. Underline a verb suffix and an adverb possibility to complete the sentence below.

1Tmark
Please not everyone of the following: it has finally been confirmed
that the Queen will be visiting on Tuesday next week.
4 ™\
Verb Suffixes Adverbial
ate likely
ify definitely
ise possibly
. J
9. Add appropriate parenthesis to the sentence below. ’
. ilmark
P
Two people both wearing raincoats were walking a dog along the
canal towpath.
|
10. Look at the words in the table. Are they modal verbs or adverbs of possibility? L |
Tick one option. g 1 mark
Word Modal Verb | Adverb of Possibility
could
possibly
will
must
surely
*+END OF TEST * * o
lhci’sapa%re
@ visit twinkl.com W



Name: ‘ Date: [

0
i i total mark
Year 5 English Grammar and Punctuation Test 5 total marks
i ;
1. Draw lines to match the verbs to the correct prefix. Use each prefix once only. ; E
] ' Imark
dis appoint .
over visit
re compensate

2. Circle the correct suffix to complete the sentence below.

You can’t qual for the next award until you can swim 20 lengths.

{ ate ise ify

¢

3. The sentence below is missing parenthesis. Add a pair of dashes so that the sentence is
punctuated correctly.

The fete or at least the outdoor part has been cancelled because of

the weather.

total for
. this page

W visit twinkl.com W



Year 5 English Grammar and Punctuation Test 5

4. Tick the adverb which shows that we will watch a film today. !

1 mark
We will be able to see the film today.
probably
definitely
perhaps

¢ I3 B . : ¢ . i ¢ ¢ i . . 1. ¢ i ' t 4 € 3 v ¢ ¢ ¢ - £ f

5. Read the sentences below. Tick one box to show which sentence uses commas correctly.

It’s unlikely, that we will be able to visit Gran Auntie Jane and

Tim all in one afternoon.

It’s unlikely that we will be able to visit Gran, Auntie Jane and

Tim all in one afternoon., L

It’s unlikely that we will be able to visit Gran Auntie Jane, and D

Tim all in one afternoon.

3 ¢ s B 4 € B s E i @ ¥ : N € ¢ ¢ i [: 7 3 & ia € E £ v 2 [ ‘ < [& i § i

6. Circle the relative pronoun in this sentence.

That is the lady who taught me to swim.

. total for ‘
. this page

@ visit twinkl.com W
w4




Year § English Grammar and Punctuation Test §

7. Circle the appropriate time connective to create cohesion between the sentences below.

Every morning I follow the same routine. , I make a cup of tea and
watch TV for a while.

Then After that Firstly Next

8. Read the passage below. Tick one modal verb which would complete it.

I think it be best if we travelled to the airport on the train.
should

might

can

9. Tick two boxes to show where brackets should be used in the sentence below.

Miss Fitzwilliam ,at least I think that’s her name,is going to be taking us for

Science next year.

1 mark

|
L
i

total for
this page
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Creative Writing Task:
Classroom Conundrum

You have 30 minutes to complete the following task. Use the checklist to help you.

The word ‘conundrum’ means ‘a confusing or difficult
problem or question’. Write a story with the title
‘Classroom Conundrum’,

Checklist

« Plan your writing

thoroughly using the
sheets provided.

» Think about what will

make your writing

unique — can you
include a twist or

standout viewpoint?

« Use a wide range of

vocabulary, punctuation
and sentence structures.

Ensure that your
handwriting is

neat and legible.

« Write at least one

side of A4,

Read through your work.
Remember to check your

spelling, punctuation

and grammar and neatly

correct any errors.

Page 1 of 3 visit twinkl.com w
Quality Standard
Awrmdd



Classroom Conundrum
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Classroom Conundrum
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Creative Writing Task:

Ancient Myths

You have 30 minutes to complete the following task. Use the checklist to help you.

Write a myth set in an ancient civilisation of your
choice.

* Plan your writing
thoroughly using the
sheets provided.

* Think about what will
make your writing
unique - can you
include a twist or
standout viewpoint?

« Use a wide range of
vocabulary, punctuation
and sentence structures.

Ensure that your
handwriting is
neat and legible.

« Write at least one
side of A4.

Read through your work.
Remember to check your
spelling, punctuation
and grammar and neatly
correct any errors.

W Page 1 of 3

visit twinkl.com w

Quatty swm:u
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Ancient Myths

Page 2 of 3 visit twinkl.com w
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Creative Writing Task:

A First Visit

You have 30 minutes to complete the following task. Use the checklist to help you.

Write a recount of your first visit to a new place. Explain what
happened and how you felt.

: —Checklist |

» Plan your writing

thoroughly using the
sheets provided.

« Think about what will

make your writing

unique - can you
include a twist or

standout viewpoint?

* Use a wide range of

vocabulary, punctuation
and sentence structures.

Ensure that your
handwriting is

neat and legible.

« Write at least one

side of A4.

Read through your work.
Remember to check your

spelling, punctuation

and grammar and neatly

correct any errors.

W Page 1 of 3 visit twinkl.com W
Qustty Standard
Krored ff



A First Visit
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A First Visit
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Once there was an old man who lived high up on a mountain far away in Japan. All around
his little house the ground was flat and the soil was good. Here were the rice fields belonging
to all the people who lived in the village at the foot of the mountain. Beyond the village was the
blue seq, so close that there was no room for anything but houses.

The old man lived with his grandson, Yone. The child loved the rice fields and he often helped
his grandfather to watch over them because he knew that all the good food for the villagers
came from there.

One day, the grandfather was standing on his own looking down at the village and the people
going about their business. He was thinking how beautiful the scene was when something
caught his eye far out to sea. It was as though a huge cloud was rising and as if the sea itself
was lifting into the sky. The old man put his hands to his eyes and looked again as hard as he
could. Then he turned and ran to the house shouting, “Grandson, grandson! Come quickly!
Bring a burning stick from the fireplace!”

Yone could not imagine why his Grandfather wanted the fire, but he always did as he was told
without question, so he quickly and carefully got the burning wood.

The old man grabbed the fiery wand and ran to the rice fields. Yone ran after him and was
horrified to see his grandfather setting light fo the dry rice in the fields. He thrust the torch in
again and again as the stalks turned red, orange and yellow.

“Grandfather! What are you doing?” screamed Yone, thinking his grandfather must have lost
his mind.

Very soon, the field was completely ablaze; the fire spread quickly and black smoke began to
creep up the mountain side. It rose thick and dark and in no time the people in the village
below saw it and knew that their precious rice fields were on fire. As quickly as their legs could
carry them, they ran. Not one person stayed behind.

When they came closer, and could see that they were too late fo save any of it, they cried and
wailed, “Who could have done this? How could it happen?”

“| did it,” said the old man.
“It's true,” sobbed his grandson, “My grandfather started the fire.”
The villagers gathered angrily around the old man, “Why?” they screamed, "Why?”

He turned and pointed to the sea. “Look.”

They all turned to look. There, where the sea had been so beautiful, still and calm, a gigantic
wall of water as tall as the sky was rolling in. The people were so aghast at the terrifying sight
they could not even scream.

The wall of water fell on the village and destroyed every hose and building. The sound was
awful. Wave after wave battered and covered the place where the village had been until it was

all under the sea.
Disastrous as this was, every last person was safe.

When they realised what the old man had done, they thanked him and honoured him for his
quick thinking which had saved them all from the tidal wave.

4
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12 The Burning of the Rice Fields Literacy Activity 3 m



/
I Answer the following questions:

1. Where is this story set?

2. Why did Yone not ask his Grandfather why he wanted a burning stick?
3. What was the danger coming from the sea?

4. Does the story have a message? What do you think it is?

5. The Burning of the Rice Fields is a re-telling of a traditional tale. Name 3 other traditional
tales.

\-—mmmmmumﬂ
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Instructions
Follow these steps to create a cute Easter bunny. For best results, use a ruler

to fold the lines sharply and accurately.

i3
2.

Cut out the square shape with scissors. Follow the thick black lines.

Fold down along lines 1 and 2 to create a kite shape. You should see
a pink nose and some eyes when you have this folded correctly.

Fold down line 3 and fold up line 4. ), .
Fold in flaps 5 and 6. The overall shape should look like this:

Fold the model in half down line 7. Flaps 5 and 6 will be
on the inside.

Fold line 9 upwards to produce this shape:

b
A
Open the shape up slightly and turn the head part of the model
inside-out. The eyes should now be on the outside of the body.

Fold along line 11 to one side of the bunny'’s head (it doesn't
matter which side). This creates the ear of the bunny and

you'll notice that the eye on that side of the bunny's head e
is completed by the half-eye printed on the ear. i

w visit twinkl.com @’
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Origami Easter Rabbit cececcceeceee Fold Down
cme=e=e=-=Fold Up
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aster Carrot : cececcaccecce Fold Down
cecemcme e =Fold Up




